
1/1

3 x ^2 + 10 x – 15

3 x ^2 -10 x – 15

3 x ^2 + 10 x + 15

None of these

#11 SA: Algebra of Functions Total points 5/5

Name *

Section *

f( x) = 3 x^ 2 + 5 x – 8 and g( x) = 5 x – 7. ( f + g)( x)= *



1/1

5 x^ 2 + 14 x – 8

5 x^ 2 -14 x + 8

-5 x^ 2 + 14 x +8

–5 x ^2 + 14 x – 8

1/1

4 x ^3 + 11 x^ 2 – 40 x + 25

4 x ^3 + 11 x^ 2 – 40 x - 25

2 x ^3 + 12 x ^2 – 25

None of these

Other:

2/2

x-4

x+4

x-3

x+3

This form was created inside of Sanskriti School.

f( x) = 5 x^ 2 – 6 x + 15 and g( x) = 8 x + 7. ( g – f)( x)= *

f( x) = x ^2 + 4 x – 5 and g( x) = 4 x – 5. ( f · g)( x)= *

f( x) = x ^2 – 7 x + 12 and g( x) = x – 4. (f/g)(x)= *
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